ELS Centers

สถาบันภาษาที่ใหญ่ที่สุดใน อเมริกา ใจดีฝ่าวิกฤตเศรษฐกิจ ลดกันง่ายๆ เอาใจนักเรียนไทย ที่ อยากเรียนในศูนย์ภาษาเกรดเอ แต่แอบลุ้นให้ได้จ่ายเบาๆ ใจดีจริงๆๆนะคะ เพราะไม่เคยลด มากเท่านี้มาก่อน ต้องรีบกันเลยทีเดียวงานนี้ ด่วนค่า !!!

ELS NEW CENTER PROMOTION FOR 2010

- \$200 off per session from the tuition if student enrolls for Semi-Intensive course
- \$300 off per session from the tuition if student enrolls for <u>Intensive course</u>
- The new center discount will be valid for <u>new applications received from April 1, 2010</u> <u>through December 13, 2010</u> for <u>students beginning their studies between session</u> <u>6 through 13 of 2010</u>.

This special promotion is valid for the following ELS centers:

- 1. Plymouth, New Hampshire-opened September, 2009 (promotion beginning session 6 A)
- 2. **Clemson, South Carolina**-opened September, 2009 (promotion beginning session 6 A)
- 3. **Santa Cruz, California**-opened January, 2010 (promotion beginning session 6 B)
- 4. Fort Smith, Arkansas-opening August 16th (session 9 A)
- 5. **Columbus, Ohio**-opening August 23rd (session 9 B)
- 6. Tampa, Florida-opening August 23rd (session 9 B)*
- 7. **DeKalb, Illinois**-opening September 13th (session 10 A)
- 8. **Houston Clear Lake, Texas**-opening September 20th (session 10 B)

Celebrated Cities Promotions 2010

- \$100 off per session from the 4 week tuition if student enrolls for Semi-Intensive
- \$150 off per session from the 4 week tuition if student enrolls for Intensive
- Promotion is valid for <u>new</u> applications <u>received from May 1st to December 13, 2010</u> for students <u>who begin their study program between May 24, 2010 (A centers) or June 1st, 2010 (B centers) and December 6, 2010 (A Centers) or December 13, 2010 (B Centers).
 </u>

Qualifying ELS Centers:

- · Manhattan, NY
- Boston, MA City Center
- Boston, MA (Mt. Ida College)
- Chicago, IL (Valid only if booked with River Forest housing)
- Berkeley, CA
- Honolulu, HI
- Las Vegas, NV
- Santa Barbara, CA
- Washington, DC
- San Francisco, CA
- San Diego, CA
- Seattle, WA

ELS Language Centers

www.els.edu

Los Angeles, Texas, Florida Promotion

Course	Hours/Wk	Wks	Price/Wk	\$US	Baht	Start Date
Semi-Intensive Eng	20	16	272.25	4,356	152,460	Every Month
		20	272.25	5,445	190,575	
		24	272.25	6,534	228,690	
Intensive English	30	16	354.5	5,672	198,520	
		20	354.5	7,090	248,150	
		24	354.5	8,508	297,780	

Booking must be enrolled and paid by Dec 30th 2010

Promotion!

New York, Boston, Chicago, Berkeley, Honolulu, Las Vegas, Santa Barbara, Washington, San Francisco, San Diego, Seattle

ELS - มีศูนย์ภาษาในวิทยาเขตของมหาวิทยาลัยกว่า 40 แห่งทั่วอเมริกา

CC AMMEDITE ICAND DE CALIFORNIA OF LEGIS DE CALIFORNIA DE						
Course	Hours/Wk	Wks	Price/Wk	\$US	Baht	Start Date
Semi-Intensive Eng	20	16	266	4,256	148,960	Every Month
		20	267	5,345	187,075	
		24	268	6,434	225,190	
Intensive English	30	16	345	5,522	193,270	
		20	347	6,940	242,900	
		24	348	8,358	292,530	

Booking must be enrolled and paid by Dec 13th 2010

Promotion for new campus!

Plymouth, Clemson, Santa Cruz, Fort Smith,

Columbus, Tampa, Dekalb, Houston Clear Lake

Course	Hours/Wk	Wks	Price/Wk	\$US	Baht	Start Date
Semi-Intensive Eng	20	24	264	6,334	221,690	Every Month
		28	250	7,003	245,105	
		32	251	8,032	281,120	
Intensive English	30	24	342	8,208	287,280	
		28	324	9,073	317,555	

Booking must be enrolled and paid by Dec 13th 2010

อัตราแลกเปลี่ยน - 1 เหรียญ เท่ากับ 35 บาท

Celebrated Cities Promotions 2010

In celebration of ELS' wide variety of city locations in the USA, we are pleased to offer a special promotional offer on the most exciting US cities.... and just in time for your summer studies!





ELS/Manhattan



ELS/Chicago



ELS/Washington DC



ELS/San Francisco



ELS/Honolulu



ELS/Seattle

A careful selection of 12 special ELS centers, in diverse locations across the United States, offer you the hustle and bustle of city life - from the unique wonders of the Big Apple, to the laid back atmosphere and beaches of Honolulu.

- Save \$100 off the 4 week tuition (Semi-Intensive English course)
- Save \$150 off the tuition (Intensive English course)

Celebrated Center Promotion 2010

Berkeley, CAHonolulu, HISan Francisco, CABoston, MA (Mt. Ida College)Las Vegas, NVSanta Barbara, CABoston, MA City CenterManhattan, NYSeattle, WAChicago, IL*San Diego, CAWashington, DC

*Valid only if booked with River Forest housing

This special promotion provides you with an attractive offer See reverse side for promotional details

www.ELS.edu www.USAUniversityGuide.org

Join in the celebration! Study in ELS' most exciting city locations and save!

Promotional Offer to Students Details:

- Save \$100 off the 4 week tuition (Semi-Intensive English course)
- Save \$150 off the tuition (Intensive English course)
- Applications must be received between May 1 to December 13, 2010 for students who begin their study
 program between May 24, 2010 (A centers) or June 1st, 2010 (B centers) and December 6, 2010 (A
 Centers) or December 13, 2010 (B Centers).
- Contact your local authorized Counseling Agent for Details!



ELS/Berkeley



ELS/Boston - Mount Ida College



ELS/Manhattan



ELS/Santa Barbara



ELS/Las Vegas



ELS/Boston - City Center

The most important decisions require the best advice.

Contact a local authorized ELS Counseling Agent today!

www.ELS.edu/agents

www.ELS.edu

www.USAUniversityGuide.org

ELS Celebrates New US Centers with a Special 2010 Promotion

ELS Language Centers is delighted to offer our students an unparalleled network of 54 superb locations in the USA! No other intensive English program offers as wide a choice of study locations, all with consistent high quality language instruction, excellent student services, and numerous housing options.





Join in our celebration and enjoy these special promotions!







ELS/Clemson Opened September 2009 - Schedule A



ELS/Santa Cruz Opened January 2010 - Schedule B



ELS/Fort Smith
Opening August 16, 2010 - Schedule A

The Special Offer Details are as follows:

- \$200 off the session tuition (Semi-Intensive English course)
- \$300 off the session tuition (Intensive English course)
- The new center discount will be valid for new applications received from April 1, 2010 through December 13, 2010 for students beginning their studies between session 6 through 13 of 2010.
- · Contact your local authorized ELS Counseling Agent for details!

www.ELS.edu www.USAUniversityGuide.org

Welcome to the new and expanded network of ELS centers!



ELS/Columbus Opening August 23, 2010 - Schedule B



ELS/Tampa Opening August 23, 2010 - Schedule B



ELS/DeKalb Opening September 13, 2010 - Schedule A



ELS/Houston - Clear Lake Opening September 20, 2010 - Schedule B

We encourage you to review this new ELS center selection on www.ELS.edu

SCHEDULE A - SESSION 6-13		SCHEDULE B - SESSION 6-13				
START DATES:		START DATES:				
May 24	September 13	June 1	September 20			
June 21	October 11	June 28	October 18			
July 19	November 8	July 26	November 15			
August 16	December 6	August 23	December 13			

The most important decisions require the best advice. Contact a local authorized ELS Counseling Agent today!

www.ELS.edu/agents